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514 Al ==R{vs 2005 2006 2007 2008 2009 2010 2011 2012 2013

ST 2| 1005kwhE| 14891.2| 14523.2| 148304 11789.1| 110832 12062.7[ 15158.0 14830.4|  14096.7
ZieE % -1.6 -2.5 2.1 -20.5 -6.0 8.8 25.7 -2.2 -4.9
pasp HeE 1,000t 335.3 321.3 395.6 491.8 606.9 575.0 830.7 1185.0 14246
ZiLE % -27.2 -4.2 23.1 24.3 234 -5.3 445 42.7 20.2
A HeE 1,000t 9728 10509 | 12295| 1218.1 579.4 759.7 | 1016.6 1238.7 1675.8
ZiLE % 11.9 8.0 17.0 -0.9 -52.4 31.1 33.8 21.8 35.3
e B 2| 1,000EAm| 19383 | 23465 16799 | 18889 14136 985.7 727.9 703.3 333.6
ZieE % 55.0 21.1 -28.4 12.4 -25.2 -30.3 -26.2 -34 -52.6
P H=E 1,000t 47.2 440 28.6 28.2 18.3 19.8 22.9 26.3 19.1
B L% % 1.9 68| -350 —14| -351 8.2 15.7 14.8 —27.4
KR SRS H=E t| 15357.1 | 16771.3 | 17591.7 | 18511.2 | 20617.4 | 18063.8 | 15087.4 | 14049.3 | 14086.8
pif (S % 24.6 9.2 4.9 5.2 1.4 -12.4 -16.5 -6.9 0.3
e — H= 1,000t 44.9 58.3 36.8 10.9 5.5 13.9 16.9 13.2 25.1
TR ZieE % -49.1 29.8 -36.9 -70.4 -49.5 152.7 21.6 -21.9 90.2
e H=E 1005A4| 31785 | 3086.2| 3052.7| 3024.4| 35860 3649.3| 24466 1896.7 934.8
pid (S % 0.3 -2.9 -1.1 -0.9 18.6 1.8 -33.0 -225 -50.7
b #&|1,000)vkL| 161523 | 140133 | 14036.3 | 14794.0 | 13698.0 | 123758 | 15839.0 | 15871.2| 15829.5
VAR TN ZieE -25.8 -13.2 0.2 5.4 -74 -9.7 28.0 0.2 -0.3
EL #&|1,000)vkL| 122609 | 10964.4 | 14031.2 | 15406.6 | 15161.2 | 18002.2 | 211835 | 218846 | 23894.9
ZieE 5.7 -10.6 28.0 9.8 -1.6 18.7 17.7 3.3 9.2

o HE 1,000t 3.2 2.9 2.9 3.3 5.7 6.6 6.3 7.2

BREES ML) ZiLE % -135 -9.4 0.0 13.8 72.7 15.8 -4.5 14.3
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